Week 30 Test |

. The sum of two numbers is 45. . Jack spent % of his money.
If one number is 17, what is the He has €24 left. How much money
other number? had he at first?

.64 10 = 14, 20f12-1of8=
. From 15 take 82. ~ 15. Find the width of this rectangle.

. What is 6 times longer ’ "
than 6-2cm? : : '

. 3 times heavier than 0-5kg is

. Increase €45 by % . 33,35,38,42, _

i e % = 7. What type of angle

; is this?
minutes :
. When | divided a number by 5, s V\:hgjc frgction
| got 5 remainder 6. : E t ;5 pizza ,
What is the number? as peen eatent

. Divide 267 by 4. . Find the area of a square with
5 a side of 12cm.

.6 x5)- = Jd g
. 12km =
. How many metres less than

Tkm is 650m?

Problems

. Cook a 2kg chicken for 40 minutes per kilogramme
plus 20 minutes. What is the cooking time
for the chicken?

. A man bought a hat and a suit. The suit cost
seven times more than the hat. The price of the hat
was €12-45, how much was the suit?

. A runner ranh17 laps of a 400-metre track.
How much short of 10km did he run?

. A boy read 45 pages of a book in one night and
5 times more the next night. If there are 467 pages
in the book, how many pages has he left to read?

. Six times a number is 978. Find 7 times the number.




